APPLICATION EXERCISE

Session #5
10-7-13
THERAPY – APPLICATION

For questions 1-2: 

At your weekly Physicians Group meeting, there was a lively debate about the clinical appropriateness of treating otitis media.  As the local “EBMie” you were chosen to bring back evidence to the Group.  
CMAJ. 2005 Feb 1;172(3):335-41.

A randomized, double-blind, placebo-controlled trial of amoxicillin for clinically diagnosed acute otitis media in children 6 months to 5 years of age 
At 14 days 84.2% of the children receiving placebo and 92.8% of those receiving amoxicillin had clinical resolution of symptoms (95% confidence interval for the ARR is 14.4% to 3.0%). Children who received placebo had more pain (NNT = 10 [6, 41]) and fever (NNT = 6 [5, 11]) in the first 2 days. There were no statistical differences in adverse events between the 2 groups, nor were there any significant differences in recurrence rates or middle ear effusion at 1 and 3 months.

1. What are the NNT and the 95% CI for resolution of symptoms?

a. 9 [3, 15]

b. -12 [-3.0, -14.4]
c. 12 [7, 34]

d. -9 [-7, -34]

2. The Physicians Group decides that fever resolution is as important as resolution of symptoms in otitis media and has developed a specific fever NNT threshold for treating with amoxicillin that would give them 95% confidence that they would not have to treat more than that number of patients to see benefit in one. For which of the fever NNT thresholds below does the article provide enough evidence to justify prescribing amoxicillin?

a.  4
b. 6
c. 10

d. 12

---------------------------------------------------------------------------------------------------------------------------------------
3. A p value > 0.05 is reported for a less toxic alternative compared to standard chemotherapeutic treatment for breast cancer, i.e. cancer remission rates are not statistically different between drugs.  The Absolute Risk Reduction 95% confidence interval for the new drug is -30% to 40%.  What is a reasonable interpretation of this result?

a. Treatment using the new alternative with less toxicity may be worthwhile
b. The Relative Risk Reduction would likely show more statistical significance therefore treatment using the new alternative with less toxicity still appears worthwhile
c. The new, less toxic therapy is the demonstrated, superior treatment of choice
d. This value cannot be converted to NNT and therefore one is unable to interpret the true clinical effect

